
HAUPTEINGANG

Vordach

Vordach

OKF + 
0.0

0 =
 46

8.2
0 ü

NN

Vordach

38
.3

0
0.

40
7.

50
7.

50
7.

50
7.

50
7.

50
0.

10 0.
30

22
.5

0
15

.8
0

0.40
7.50 7.50 7.50 7.50 7.50

0.40

0.15
15.13

0.24
3.66

0.24
2.115

0.10

1.365

0.10
7.25

0.10
7.70

0.15

38.30

Aufzug

Aufzug

TH

Flur

HA

1
2

3
4

5
6

B C D E FA

Eingangshalle

A-A

NA

0.
15

4.
99

0.
11

5 1.
510.

11
5 1.
260.

11
5 1.
63

50.
11

5 1.
63

50.
11

5

3.
89

5
0.

15

A-A

 EG Bestand 

StefanRuppert
Polygonlinien




